



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(-\frac{2}{5}\right) - \frac{1}{6} =$$

$$\left(-\frac{3}{4}\right)^3 - \frac{1}{3} =$$

$$\left(\frac{2}{5}\right)^0 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{6}\right)^0 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{2}{5}\right)^3 + \frac{1}{4} =$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{4} =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{6} =$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right) + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^0 + \frac{3}{4} =$$

$$\left(\frac{3}{4}\right) + \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{2}{5} =$$

$$\left(\frac{3}{5}\right)^2 - \frac{2}{5} =$$

$$\left(-\frac{2}{5}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right) + \frac{1}{6} =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(-\frac{2}{5}\right) - \frac{1}{6} = \left(-\frac{17}{30}\right)$$

$$\left(-\frac{3}{4}\right)^3 - \frac{1}{3} = \left(-\frac{145}{192}\right)$$

$$\left(\frac{2}{5}\right)^0 - \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{3}{4}\right) = \frac{31}{36}$$

$$\left(-\frac{1}{6}\right)^0 - \left(-\frac{1}{3}\right) = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{6} = \frac{19}{48}$$

$$\left(\frac{2}{5}\right)^3 + \frac{1}{4} = \frac{157}{500}$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{4} = \frac{29}{100}$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{6}\right) = \frac{49}{150}$$

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{3}{5}\right) = \frac{53}{80}$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{6} = \frac{119}{750}$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{1}{5}\right) = \left(-\frac{8}{15}\right)$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{74}{125}\right)$$

$$\left(\frac{3}{4}\right) + \left(-\frac{3}{4}\right) = 0$$

$$\left(-\frac{1}{5}\right)^0 + \frac{3}{4} = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(\frac{3}{4}\right) + \frac{1}{2} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(-\frac{3}{5}\right)^2 - \frac{2}{5} = \left(-\frac{1}{25}\right)$$

$$\left(\frac{3}{5}\right)^2 - \frac{2}{5} = \left(-\frac{1}{25}\right)$$

$$\left(-\frac{2}{5}\right)^3 - \frac{1}{2} = \left(-\frac{141}{250}\right)$$

$$\left(\frac{1}{2}\right) + \frac{1}{6} = \frac{2}{3}$$